KYUNGPOOK Math. J. 51(2011), 195-204 DOI 10.5666/KMJ.2011.51.2.195

## On a Result of N. Terglane

INDRAJIT LAHIRI\* Department of Mathematics, University of Kalyani, West Bengal 741235, India e-mail: indr9431@dataone.in and ilahiri@hotmail.com

GOUTAM KUMAR GHOSH Department of Mathematics, G.M.S.M. Mahavidyalaya, Bireswarpur, South 24 Parganas, India e-mail: g80g@rediffmail.com

ABSTRACT. We prove a uniqueness theorem for meromorphic functions sharing three weighted values, which improves a result given by N. Terglane in 1989 and a result given by X. M. Li and H. X. Yi in 2003. Some examples are provided to show that the result of the paper is best possible.

#### 1. Introduction, definitions and results

In the paper, by meromorphic functions we shall always mean meromorphic functions in the open complex plane  $\mathbb{C}$ . We adopt the standard notations and definitions of Nevanlinna theory of meromorphic functions as explained in [3, 12]. It is convenient to let E denote any set of positive real numbers of a finite linear measure not necessarily the same at each occurrence. For a non-constant meromorphic function h, we denote by T(r, h) the Nevanlinna characteristic of h and by S(r, h)any quantity satisfying  $S(r, h) = o\{T(r, h)\}$  as  $r \to \infty$ ,  $r \notin E$ .

Let f and g be two non-constant meromorphic functions and let  $a \in \mathbb{C} \cup \{\infty\}$ . We say that f and g share the value a CM, provided that f and g have the same a-points with the same multiplicities. We say that f and g share the value a IM, provided that f and g have the same a-points ignoring multiplicities (see [12]). Throughout the paper, we need the following definitions.

**Definition 1.1.** A meromorphic function a = a(z) is called a small function of f if T(r, a) = S(r, f).

**Definition 1.2.** Let a be a small function of f and g. We denote by  $\overline{N}(r, a; f, g)$ 

<sup>\*</sup> Corresponding Author.

Received February 10, 2010; revised December 28, 2010; accepted January 20, 2011. 2000 Mathematics Subject Classification: 30D35.

Key words and phrases: Meromorphic function, Uniqueness, Weighted sharing, Small function.

the reduced counting function of the common zeros of f - a and g - a.

**Definition 1.3.** We denote by  $N(r, a; f, g | \le 1)$  the counting function of the common simple zeros of f - a and g - a for some small function a of f and g.

**Definition 1.4.** Let f and g share 0, 1,  $\infty$  IM. We denote by N(r) the counting function of those zeros of f - g which are not the zeros of f(f - 1) and  $\frac{1}{f}$ .

**Definition 1.5.** We denote by  $\overline{N}_0(r, a; f, g)$  the reduced counting function of the common zeros of f - a and g - a, where the respective multiplicities are unequal and a = a(z) is a small function of f and g.

**Definition 1.6.** Let k be a positive integer and a be a small function of f. We denote by  $N(r, a; f | \le k)$   $(N(r, a; f | \ge k))$  the counting function of those zeros of f - a whose multiplicities are not greater (less) than k.

Also by  $\overline{N}(r, a; f \mid \leq k)$  and  $\overline{N}(r, a; f \mid \geq k)$  we denote the corresponding reduced counting functions.

In 1989, N. Terglane [11] proved the following result.

**Theorem A.** Let f and g be non-constant meromorphic functions and let a, b, c, d be four distinct complex numbers such that the cross-ratio  $(a, b, c, d) \in \{-1, 2, \frac{1}{2}\}$ . If f and g share b, c, d CM and  $\overline{N}(r, a; f, g) \neq S(r, f)$  then f is a bilinear transformation of g.

Q. C. Zhang [13] in 1998 worked in the line of Theorem A and proved the following result.

**Theorem B([13]).** Let f and g be non-constant meromorphic functions sharing 0, 1 and  $\infty$  CM. Suppose additionally that there exists a complex number  $a(\neq 0, 1, \infty)$ such that  $E_{1}(a; f) = E_{1}(a; g) \neq \emptyset$ , where  $E_{1}(a; f)$  denotes the set of simple apoints of f and  $\emptyset$  denotes the empty set. Then f and g satisfy one of the following relations: (i)  $f \equiv g$ , (ii)  $f + g \equiv 1$  with  $a = \frac{1}{2}$ , (iii)  $(f - 1)(g - 1) \equiv 1$  with a = 2, (iv)  $fg \equiv 1$  with a = -1.

In 2003, X. M. Li and H. X. Yi [10] considered the problem of removing the hypothesis  $(a, b, c, d) \in \{-1, 2, \frac{1}{2}\}$  from Theorem A. They considered the special case b = 1, c = 0 and  $d = \infty$ , as the general case can be treated by a suitable bilinear transformation. Following is the result of X. M. Li and H. X. Yi.

**Theorem B([10]).** Let f and g be non-constant meromorphic functions sharing 0, 1 and  $\infty$  CM. Further suppose that there exists a complex number  $a(\neq 0, 1, \infty)$  such that  $\overline{N}(r, a; f, g) \neq S(r, f)$ . Then f is a bilinear transformation of g, apart from the following three exceptional cases:

On a Result of N. Terglane

(i) 
$$f = \frac{e^{s\gamma} - 1}{e^{(p+1)\gamma} - 1}$$
,  $g = \frac{e^{-s\gamma} - 1}{e^{-(p+1)\gamma} - 1}$  with  $1 \le s \le p$  and  $a = \frac{s}{p+1}$ .

(ii) 
$$f = \frac{e^{(p+1)\gamma} - 1}{e^{(p+1-s)\gamma} - 1}$$
,  $g = \frac{e^{-(p+1)\gamma} - 1}{e^{-(p+1-s)\gamma} - 1}$  with  $1 \le s \le p$  and  $a = \frac{p+1}{p+1-s}$ 

(iii) 
$$f = \frac{e^{s\gamma} - 1}{e^{-(p+1-s)\gamma} - 1}, g = \frac{e^{-s\gamma} - 1}{e^{(p+1-s)\gamma} - 1}$$
 with  $1 \le s \le p$  and  $a = \frac{s}{s - p - 1}$ 

where  $\gamma$  is a non-constant entire function and  $p(\geq 2)$  and s are positive integers such that s and p+1 are relatively prime. Further the following holds:

$$N(r, a; f, g \mid \le 1) = N(r) + S(r, f) = \frac{1}{p}T(r, f) + S(r, f).$$

Following examples show that in Theorem C one cannot replace any of the CM shared values by IM shared values.

**Example 1.1.** Let  $f = \frac{(1-e^z)^3}{1-3e^z}$  and  $g = \frac{4(1-e^z)}{1-3e^z}$ . Then f and g share 0 IM and 1,  $\infty$  CM. Since  $f - 2 = \frac{(1+e^z)(4e^z - e^{2z} - 1)}{1-3e^z}$  and  $g - 2 = \frac{2(1+e^z)}{1-3e^z}$ , we see that  $\overline{N}(r, 2; f, g) \neq S(r, f)$  but the conclusion of Theorem C does not hold.

**Example 1.2.** Let  $f = \frac{e^{2z}(e^z - 3)}{1 - 3e^z}$  and  $g = \frac{e^z - 3}{1 - 3e^z}$ . Then f, g share  $0, \infty$  CM and 1 IM. Since  $f + 1 = \frac{(1 + e^z)(1 + e^{2z} - 4e^z)}{1 - 3e^z}$  and  $g + 1 = \frac{-2(1 + e^z)}{1 - 3e^z}$ , we see that  $\overline{N}(r, -1; f, g) \neq S(r, f)$  but the conclusion of Theorem C does not hold.

**Example 1.3.** Let  $f = \frac{1-3e^z}{(1-e^z)^3}$  and  $g = \frac{1-3e^z}{4(1-e^z)}$ . Then f, g share 0, 1 CM and  $\infty$  IM. Since  $f - \frac{1}{2} = \frac{(1+e^z)(1-4e^z+e^{2z})}{2(1-e^z)^3}$  and  $g - \frac{1}{2} = -\frac{1+e^z}{4(1-e^z)}$ , we see that  $\overline{N}(r, \frac{1}{2}; f, g) \neq S(r, f)$  but the conclusion of Theorem C does not hold.

In view of the above examples, we may ask the following question: Is it possible in any way to relax the nature of sharing values in Theorem C?

We use the notion of weighted sharing of values to answer the above question in affirmative. In the paper we also investigate the problem of replacing the value  $a(\neq 0, 1, \infty)$  in Theorem C by a small function  $a = a(z) (\neq 0, 1, \infty)$  of f and g.

We now explain the notion of weighted sharing of values which measures how close a shared value is to being shared IM or to being shared CM.

**Definition 1.7**([4, 5]). Let k be a nonnegative integer or infinity. For  $a \in \mathbb{C} \cup \{\infty\}$  we denote by  $E_k(a; f)$  the set of all *a*-points of f where an *a*-point of multiplicity m is counted m times if  $m \leq k$  and k + 1 times if m > k. If  $E_k(a; f) = E_k(a; g)$ , we say that f, g share the value a with weight k.

The definition implies that if f, g share a value a with weight k then  $z_o$  is a zero of f - a with multiplicity  $m(\leq k)$  if and only if it is a zero of g - a with multiplicity  $m(\leq k)$  and  $z_o$  is a zero of f - a with multiplicity m(>k) if and only if it is a zero of g - a with multiplicity n(>k) with multiplicity n(>k) with multiplicity n(>k) with multiplicity n(>k) where m is not necessarily equal to n.

We write f, g share (a, k) to mean that f, g share the value a with weight k. Clearly if f, g share (a, k) then f, g share (a, p) for all integers p,  $0 \le p < k$ . Also we note that f, g share a value a IM or CM if and only if f, g share (a, 0) or  $(a, \infty)$  respectively.

We now state the main result of the paper.

**Theorem 1.1.** Let f and g be two distinct non-constant meromorphic functions sharing (0,1), (1,m),  $(\infty,k)$ , where  $(m-1)(mk-1) > (1+m)^2$ . Further let there exist a small function  $a = a(z) \neq 0, 1, \infty$  of f and g such that  $\overline{N}(r, a; f, g) \neq$ S(r, f). Then f and g assume one of the following forms:

(i) 
$$f = \frac{e^{s\gamma} - 1}{e^{(p+1)\gamma} - 1}, \ g = \frac{e^{-s\gamma} - 1}{e^{-(p+1)\gamma} - 1} \ \text{with} \ 1 \le s \le p \ \text{and} \ a \equiv \frac{s}{p+1},$$

(ii) 
$$f = \frac{e^{(p+1)\gamma} - 1}{e^{(p+1-s)\gamma} - 1}, g = \frac{e^{-(p+1)\gamma} - 1}{e^{-(p+1-s)\gamma} - 1}$$
 with  $1 \le s \le p$  and  $a \equiv \frac{p+1}{p+1-s}$ ,

(iii) 
$$f = \frac{e^{s\gamma} - 1}{e^{-(p+1-s)\gamma} - 1}, g = \frac{e^{-s\gamma} - 1}{e^{(p+1-s)\gamma} - 1}$$
 with  $1 \le s \le p$  and  $a \equiv \frac{s}{s - p - 1}$ ,

where  $\gamma$  is a non-constant entire function and p and s are positive integers such that s and p + 1 are relatively prime. Further the following holds:

$$N(r,a;f,g \mid \leq 1) = N(r) + S(r,f) = \frac{1}{p}T(r,f) + S(r,f).$$

**Remark 1.1.** Examples 1.1, 1.2 and 1.3 show that in Theorem 1.1 the weight of value sharing cannot be reduced to zero.

**Remark 1.2.** Theorem 1.1 is valid for the following pairs of least values of m and k : m = 2, k = 6; m = 3, k = 4; m = 6, k = 2 and m = 4, k = 3.

Following corollary is immediate from Theorem 1.1.

**Corollary 1.1.** Let f and g be two distinct non-constant meromorphic functions sharing (0,1), (1,m),  $(\infty,k)$ , where  $(m-1)(mk-1) > (1+m)^2$ . Further suppose that  $a = a(z) \not\equiv \infty$  is a small function of f and g, which is not identically equal to a rational number. Then  $\overline{N}(r,a;f,g) = S(r,f)$ .

#### 2. Lemmas

In this section, we present some necessary lemmas.

**Lemma 2.1([2]).** If f, g share (0,0), (1,0),  $(\infty,0)$  then  $T(r,f) \leq 3T(r,g) + S(r,f)$ and  $T(r,g) \leq 3T(r,f) + S(r,g)$ .

This shows that S(r, f) = S(r, g) and we denote them by S(r).

**Lemma 2.2([9]).** Let f and g be two distinct non-constant meromorphic functions sharing (0,1), (1,m) and  $(\infty,k)$ , where  $(m-1)(mk-1) > (1+m)^2$ . If  $N(r) \neq S(r)$ , then one of the following holds:

- (i) f is a bilinear transformation of g with N(r) = T(r, f) + S(r) = T(r, g) + S(r),
- (ii) f is not a bilinear transformation of g with T(r, f) = T(r, g) + S(r) and  $N(r) \leq \frac{1}{2}T(r, f) + S(r)$ .

**Lemma 2.3([9]).** Let f and g be two distinct non-constant meromorphic functions sharing (0,1), (1,m) and  $(\infty,k)$ , where  $(m-1)(mk-1) > (1+m)^2$ . If  $N(r) \ge \lambda T(r,f) + S(r)$  for some  $\lambda > \frac{1}{2}$  then f is a bilinear transformation of g and N(r) = T(r,f) + S(r) = T(r,g) + S(r). Further f and g satisfy one of the following : (i)  $f + g \equiv 1$ , (ii)  $(f-1)(g-1) \equiv 1$  and (iii)  $fg \equiv 1$ .

**Lemma 2.4([9]).** Let f and g be two distinct non-constant meromorphic functions sharing (0,1), (1,m) and  $(\infty,k)$ , where  $(m-1)(mk-1) > (1+m)^2$ . If  $N(r) \le \lambda T(r,f) + S(r)$  for some  $\lambda(0 < \lambda < 1)$  and  $N(r) \ne S(r)$  then f is not a bilinear transformation of g and  $N(r) = \frac{1}{p}T(r,f) + S(r)$ , T(r,f) = T(r,g) + S(r) and f, gsatisfy one of the following :

(i) 
$$f = \frac{e^{s\gamma} - 1}{e^{(p+1)\gamma} - 1}$$
 and  $g = \frac{e^{-s\gamma} - 1}{e^{-(p+1)\gamma} - 1}$ ;

(ii) 
$$f = \frac{e^{(p+1)\gamma} - 1}{e^{(p+1-s)\gamma} - 1}$$
 and  $g = \frac{e^{-(p+1)\gamma} - 1}{e^{-(p+1-s)\gamma} - 1}$ 

(iii) 
$$f = \frac{e^{s\gamma} - 1}{e^{-(p+1-s)\gamma} - 1}$$
 and  $g = \frac{e^{-s\gamma} - 1}{e^{(p+1-s)\gamma} - 1};$ 

where s and  $p(\geq 2)$  are positive integers with  $1 \leq s \leq p$  and s, p+1 are relatively prime and  $\gamma$  is a non-constant entire function.

**Lemma 2.5([6]).** Let f and g be two distinct non-constant meromorphic functions sharing (0,1), (1,m) and  $(\infty,k)$ , where  $(m-1)(mk-1) > (1+m)^2$ . Then  $\overline{N}(r,b; f \geq 2) = S(r)$  and  $\overline{N}(r,b; g \geq 2) = S(r)$  for  $b = 0, 1, \infty$ .

**Lemma 2.6**([7, 8]). Let f and g be two distinct non-constant meromorphic functions sharing (0,1), (1,m) and  $(\infty,k)$ , where  $(m-1)(mk-1) > (1+m)^2$ . If f is not a bilinear transformation of g then each of the following holds:

(i)  $T(r, f) + T(r, g) = N(r, 0; f | \le 1) + N(r, 1; f | \le 1) + N(r, \infty; f | \le 1) + N_0(r) + S(r),$ 

- (ii)  $T(r, f) = N(r, 0; g' \le 1) + N_0(r) + S(r),$
- (iii)  $T(r,g) = N(r,0; f' | \le 1) + N_0(r) + S(r),$
- (iv)  $N_1(r) = S(r)$ ,
- (v)  $N_0(r,0; f' \geq 2) = S(r),$
- (vi)  $N_0(r, 0; g' \geq 2) = S(r),$

where  $N_0(r)$   $(N_1(r))$  denotes the counting function of those simple (multiple) zeros of f-g which are not the zeros of f(f-1) and  $\frac{1}{f}$ , also  $N_0(r,0; f' \geq 2)$   $(N_0(r,0; g' \geq 2))$  is the counting function of those multiple zeros of f'(g') which are not the zeros of f(f-1).

**Lemma 2.7([1]).** Let f and g be two distinct non-constant meromorphic functions sharing (0,1), (1,m)  $(\infty,k)$ , where  $(m-1)(mk-1) > (1+m)^2$ . If  $N(r,a; f | \le 2) \ne T(r,f) + S(r,f)$  for some small function  $a(\ne 0,1,\infty)$  of f and g, then  $\overline{N}(r,a; f) = S(r,f)$ .

### 3. Proofs of the main results

In this section we present the proofs of the theorems.

Proof of Theorem 1.1. Let  $\phi_1 = \frac{F'}{F} - \frac{G'}{G}$  and  $\phi_2 = \frac{f'(f-a)}{f(f-1)} - \frac{g'(g-a)}{g(g-1)}$ , where aF = f and aG = g.

If  $\phi_1 \equiv 0$ , then  $f \equiv Ag$ , where A is a constant. Since  $\overline{N}(r, a; f, g) \neq S(r)$ , we get A = 1 and so  $f \equiv g$ , which is a contradiction. So  $\phi_1 \neq 0$ .

We see that  $m(r, \phi_1) \le m\left(r, \frac{F'}{F}\right) + m\left(r, \frac{G'}{G}\right) + O(1) = S(r)$  and by Lemma 5

$$\begin{split} N(r,\infty;\phi_1) &= N(r,\infty;\phi_1) \\ &\leq \overline{N}(r,0;f\mid\geq 2) + \overline{N}(r,\infty;f\mid\geq 2) + N(r,0;a) + N(r,\infty;a) \\ &= S(r). \end{split}$$

Hence  $T(r, \phi_1) = S(r)$ .

Suppose that  $\phi_2 \not\equiv 0$ . Since  $\phi_2 = a\left(\frac{f'}{f} - \frac{g'}{g}\right) + (1-a)\left(\frac{f'}{f-1} - \frac{g'}{g-1}\right)$ , we get  $m(r, \phi_2) = S(r)$  and by Lemma 2.5 we obtain

$$\begin{array}{ll} N(r,\infty;\phi_2) &\leq & \overline{N}(r,\infty;\phi_2) + N(r,\infty;a) \\ &\leq & \overline{N}(r,0;f \mid \geq 2) + \overline{N}(r,\infty;f \mid \geq 2) + \overline{N}(r,1;f \mid \geq 2) + N(r,\infty;a) \\ &= & S(r). \end{array}$$

Hence  $T(r, \phi_2) = S(r)$ . Now we see that

$$\overline{N}(r, a; f, g) \leq N(r, 0; \phi_2) + N(r, 0; a) + N(r, 1; a) + N(r, \infty; a) 
\leq T(r, \phi_2) + S(r) 
= S(r),$$

which is a contradiction. Hence  $\phi_2 \equiv 0$  and so

(3.1) 
$$\frac{f'(f-a)}{f(f-1)} \equiv \frac{g'(g-a)}{g(g-1)}.$$

Let  $z_0$  be a zero of f - a and g - a with respective multiplicities p and q. If  $a(z_0) \neq 0, 1, \infty$  and  $a'(z_0) \neq 0$ , then from (3.1) we see that p = q.

Let  $a(z_0) = 0$ . Then  $z_0$  is a zero of f = (f-a) + a and a zero of g = (g-a) + a. Hence  $z_0$  is a zero of  $\frac{f'(f-a)}{f(f-1)}$  and  $\frac{g'(g-a)}{g(g-1)}$  with multiplicities p-1 and q-1 respectively. So from (3.1) we get p = q. Similarly if  $a(z_0) = 1$ , we get p = q.

Let  $z_0$  be a pole of a = a(z) with multiplicity r. Since  $z_0$  is a zero of f - a and g - a, it follows that  $z_0$  is a pole of f and g with multiplicity r. Hence  $z_0$  is a zero of  $\frac{f'(f-a)}{f(f-1)}$  and  $\frac{g'(g-a)}{g(g-1)}$  with respective multiplicities p+r-1 and q+r-1. So from (3.1) we get p = q. Therefore we obtain

(3.2) 
$$\overline{N}_0(r,a;f,g) \le N(r,0;a') + N(r,0;a) + N(r,1;a) + N(r,\infty;a) \le 5T(r,a) = S(r).$$

We now verify that a zero of f - a, which is not a zero of g - a, cannot be a pole of f and g. Let  $z_1$  be a zero of f - a with multiplicity  $p(\geq 1)$  which is not a zero of g - a. Let  $z_1$  be a pole of f and g with respective multiplicities q and r. Since  $z_1$  is a zero of f - a, it is also a pole of a = a(z) with multiplicity q. Then we see that  $z_1$  is a zero of  $\frac{f'(f-a)}{f(f-1)}$  with multiplicity p + q - 1.

Suppose q < r. Then  $z_1$  is a pole of g - a with multiplicity r. So  $z_1$  is a simple pole of  $\frac{g'(g-a)}{g(g-1)}$ , which is impossible by (3.1).

Suppose q > r. Then  $z_1$  is a pole of g - a with multiplicity q. So  $z_1$  is a pole of  $\frac{g'(g-a)}{g(g-1)}$  with multiplicity q + 1 - r, which is impossible by (3.1).

Suppose q = r. Let  $z_1$  be a pole of g - a with multiplicity  $s \leq r$ . If s < r then  $z_1$  is a zero of  $\frac{g'(g-a)}{g(g-1)}$  with multiplicity q - s - 1. If s = r - 1, then  $z_1$  is a regular point of  $\frac{g'(g-a)}{g(g-1)}$  but not a zero of it, which is impossible by (3.1). If s < r - 1, then from (3.1) we see that q - s - 1 = p + q - 1 and so p + s = 0, which is impossible. If s = r, then  $z_1$  is a simple pole of  $\frac{g'(g-a)}{g(g-1)}$ , which is impossible by

(3.1). Suppose that  $z_1$  is a regular point of g - a such that  $g(z_1) - a(z_1) \neq 0$ . Then q = r and  $z_1$  is a zero of  $\frac{g'(g-a)}{g(g-1)}$  with multiplicity q-1. So from (3.1) we get p+q-1=q-1, which is impossible.

Let  $N_1(r, a; f \mid g \neq a)$  and  $N_*(r, a; f \mid g \neq a)$  respectively denote the counting functions of the simple and multiple zeros of f - a which are not the zeros of g - a, where each zero is counted according to its multiplicity.

Noting that a is a small function of f and g, we get from (3.1) that a common zero of f - a and f(f - 1) is a zero of g - a. This together with Lemma 2.5 and Lemma 2.6 (vi) gives

(3.3) 
$$N_1(r, a; f \mid g \neq a) = N(r, 0; g' \mid \le 1) + S(r)$$

and

(3.4) 
$$N_*(r,a;f \mid g \neq a) \le N_0(r,0;g' \mid \ge 2) + S(r) = S(r).$$

We now denote by  $N_2(r, a; f, g)$  the counting function of common double zeros of f - a and g - a, where zeros are counted according to multiplicity. Since f - a = a(F - 1) and g - a = a(G - 1), we get

(3.5) 
$$N_2(r,a;f,g) \le 2N(r,0;\phi_1) + 2N(r,0;a) + 2N(r,\infty;a) = S(r).$$

Now from (3.2), (3.3), (3.4) and (3.5) we get

(3.6) 
$$N(r,a;f|\leq 2) = N(r,a;f,g|\leq 1) + N(r,0;g'|\leq 1) + S(r)$$

Since  $\overline{N}(r,a;f,g) \leq \overline{N}(r,a;f)$  and  $\overline{N}(r,a;f,g) \neq S(r,f)$ , by Lemma 2.7 we obtain

(3.7) 
$$T(r, f) = N(r, a; f \le 2) + S(r).$$

Now from (3.6), (3.7) and Lemma 2.6 (ii) we get

(3.8) 
$$N(r,a;f,g \leq 1) = N_0(r) + S(r).$$

From (3.8) we see by Lemma 2.6 (iv) that

$$N_0(r) + S(r) = N(r, a; f, g | \le 1) \le \overline{N}(r, a; f, g) \le N_0(r) + S(r)$$

and so

(3.9) 
$$\overline{N}(r,a;f,g) = N_0(r) + S(r).$$

Since by Lemma 2.6 (iv)  $N(r) = N_0(r) + N_1(r) = N_0(r) + S(r)$ , from (3.8) and (3.9) we get

(3.10) 
$$N(r,a;f,g \leq 1) = N(r) + S(r)$$

and

(3.11) 
$$\overline{N}(r,a;f,g) = N(r) + S(r).$$

From (3.11) and the hypotheses of the theorem we see that  $N(r) \neq S(r)$ . We now consider the following two cases.

Case I. Let T(r, f) = N(r) + S(r). Then by Lemma 2.2 and Lemma 2.3 we see that f and g satisfy one of the following relations :  $f + g \equiv 1$ ,  $(f - 1)(g - 1) \equiv 1$  and  $fg \equiv 1$ .

Let  $f + g \equiv 1$ . Then f and g do not assume the values 0 and 1. So there exists a non-constant entire function  $\gamma$  such that  $f = \frac{1}{1 + e^{\gamma}}$  and  $g = \frac{1}{1 + e^{-\gamma}}$ , which is the possibility (i) of the theorem for p = 1. Also in this case we get from (3.1) that  $a \equiv \frac{1}{2}$ .

Let  $(f-1)(g-1) \equiv 1$ . Then f and g do not assume the values 1 and  $\infty$ . Hence there exists a non-constant entire function  $\gamma$  such that  $f = 1 + e^{\gamma}$  and  $g = 1 + e^{-\gamma}$ , which is the possibility (ii) of the theorem for p = 1. Also in this case we get from (3.1) that  $a \equiv 2$ .

Let  $fg \equiv 1$ . Then f and g do not assume the values 0 and  $\infty$ . Hence there exists a non-constant entire function  $\gamma$  such that  $f = -e^{\gamma}$  and  $g = -e^{-\gamma}$ , which is the possibility (iii) of the theorem for p = 1. Also in this case we get from (3.1) that  $a \equiv -1$ .

Case II. Let  $T(r, f) \neq N(r) + S(r)$ . Then by Lemma 2.2, Lemma 2.4 and (3.10) we see that f and g assume one of the forms (i), (ii) and (iii) of the theorem and

$$N(r, a; f, g \mid \leq 1) = N(r) + S(r, f) = \frac{1}{p}T(r, f) + S(r, f).$$

If f and g assume the form (i), then  $\frac{f'}{f} - \frac{g'}{g} \equiv (s-p-1)\gamma'$  and  $\frac{f'}{f-1} - \frac{g'}{g-1} \equiv s\gamma'$ . Since  $\gamma' \neq 0$ , from (3.1) we get  $a \equiv \frac{g}{p+1}$ . Similarly if f and g assume the forms (ii) and (iii), then we respectively obtain  $a \equiv \frac{p+1}{p+1-s}$  and  $a \equiv \frac{s}{s-p-1}$ . This proves the theorem.

Acknowledgement. The authors are thankful to the referee for valuable suggestions towards the improvement of the paper.

# References

- T. C. Alzahary, Small functions of meromorphic functions sharing three values with finite weights, Indian J. Pure Appl. Math., 38(4)(2007), 305-316.
- [2] G. G. Gundersen, Meromorphic functions that share three or four values, J. London Math. Soc., 20(2)(1979), 457-466.
- [3] W. K. Hayman, Meromorphic Functions, The Clarendon Press, Oxford, 1964.
- [4] I. Lahiri, Weighted sharing and uniqueness of meromorphic functions, Nagoya Math. J., 161(2001), 193-206.
- [5] I. Lahiri, Weighted value sharing and uniqueness of meromorphic functions, Complex. Var. Theory Appl., 46(3)(2001), 241-253.
- [6] I. Lahiri, On a result of Ozawa concerning uniqueness of meromorphic functions II, J. Math. Anal. Appl., 283(1)(2003), 66-76.
- [7] I. Lahiri, Characteristic function of meromorphic functions sharing three values with finite weights, Complex Var. Theory Appl., 50(1)(2005), 69-78.
- [8] I. Lahiri, Sharing three values with small weights, Hokkaido Math. J., 36(2007), 129-142.
- [9] I. Lahiri, Weighted sharing of three values by meromorphic functions, Hokkaido Math. J., 37(2008), 41-58.
- [10] X. M. Li and H. X. Yi, A note on a unicity theorem of N. Terglane, Complex Var. Theory Appl., 48(2)(2003), 111-118.
- [11] N. Terglane, Identitätssätze in C meromorpher Funktionen als Ergebnis von Werteteilung, Diplomarbeit, RWTH Aachen, 1989.
- [12] C. C. Yang and H. X. Yi, Uniqueness Theory of Meromorphic Functions, Kluwer Academic Publishers, Dordrecht/Boston/London, 2003.
- [13] Q. C. Zhang, A note on two results of Ueda and Mues, J. Math. Res., 31(1998), 451-454.